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      Mr. Zimny

topic fourteen – the revolt against the system?:
schwarzenegger takes power
Schrag, Chapter 3 – Action Hero
Overview: 

This chapter describes and analyzes Arnold Schwarzenegger’s victory in the gubernatorial recall election of 2003.  Schrag concludes that if Schwarzenegger’s victory was a “revolt against the California political system,” the voters were really rejecting a system they had constructed themselves, through their contradictory demands for more government services and lower taxes.  The recall, Schrag argues, was really a victory of “identity politics” and celebrity sex appeal over the “issue politics” that might have dealt with the real problems facing California.
Outline: 

I. Anti-tax crusader Ted Costa first launched the recall movement that brought Arnold Schwarzenegger to the governor’s chair
A. His reason: the $28 billion state budget deficit after the election of Gov. Gray Davis in 2002

B. Low turnout in the 2002 election made it possible to get recall petition signatures from 12 percent of total voters

C. Davis had never been widely liked, gaining his victories by constant fund-raising and negative campaigns

1. His demands for money had alienated interest groups who had supported him

2. His lack of decisiveness in the 2000-2001 electricity crisis had also made him vulnerable.

i. A change in electricity regulations (1996) had made it possible for energy companies like Enron to steal billions from California

ii. Davis had failed to push for long-term contracts that would have stabilized prices

3. In his 2002 election, Davis had spent $10 million to defeat his strongest opponent in the Republican primary

II. Many Republicans at first opposed the recall

A. A second group, Recall Gray Davis, entered the petition drive

B. In May 2003 Darrell Issa, Republican congressman from Southern California, decided to fund the recall movement
1. He wanted to become governor, but he was too conservative and linked to financial scandals

III. In the summer of 2003, Republican minorities in the legislature were refusing to agree to tax increases to balance the state budget

A. Davis was forced to allow the vehicle license fee (VLF) to triple, as the law allowed him to do

B. Davis’s license fee increase brought new attacks from Republicans and radio talk shows

IV. The recall qualified in July 2003, in time to require a special election on October 7

A. Along with the recall vote (in which a majority could remove Davis), there would be a vote for the new governor (which the candidate with the most votes would win)

B. Since state law made it easy to run, 135 candidates entered the race

V. It became clear as the election approached that Davis would be defeated

VI. California Democratic leaders concentrated on beating the recall vote, and tried to keep well known Democrats from running against Davis

A. Lt. Gov. Cruz Bustamante, however, jumped into the race, weakening Davis and confusing Democratic voters
VII. Arnold Schwarzenegger was pushed to run by Republican leaders

A. His name recognition as a Hollywood star would give him an advantage in a short campaign

B. One problem for Schwarzenegger:  a long record of public misconduct

C. The short campaign would make it easier for Arnold to dodge tough questions and detailed positions

VIII. Davis blundered when he signed a bill restoring the right to drivers’ licenses to illegal aliens

IX. In the recall campaign, “identity politics” won and “issue politics” lost

A. Bustamante’s early lead over Schwarzenegger dissolved when Bustamante’s reliance on contributions from Indian casinos became public knowledge

B. Davis was recalled by 55% to 45%, while Schwarzenegger won with 49%; Bustamante got only 32%

X. Some political reporters believed that Arnold’s election was a revolt against the system by the “forgotten middle”

A. California, however, seemed to have these revolts about every 12 years

B. Many states had faced the same budget problem that California did, and solved it by raising taxes
C. In California, however, the Republican minority held out against tax increases

D. Davis was trapped between constitutional spending requirements, public employee unions, and Republicans who didn’t want to vote for tax increases or spending cuts

E. Many quick fixes for the budget crisis were tried, but they couldn’t close the “structural deficit”

XI. Schwarzenegger immediately canceled the VLF increase and got the legislature to repeal the driver’s license bill.

XII. The recall was really not a revolt against the system; it was an extension of the hyperdemocracy that began in the 70s

A. Schwarzenegger showed that the old system survived when he endorsed a stem cell research bond that would cost the state $6 billion to repay 
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